% VCE & PDF https://lwww.geekcert.com/e20-593.html
' 2024 Latest geekcert E20-593 PDF and VCE dumps Download
2 GeekCert.com

E20-593R4As

Backup and Recovery Implementation Exam

Pass EMC E20-593 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/e20-593.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest E20-593 Dumps | E20-593 VCE Dumps | E20-593 Braindumps 1/4


https://www.geekcert.com/e20-593.html
https://www.geekcert.com/e20-593.html
https://www.geekcert.com/e20-593.html

VCE & PDF https://lwww.geekcert.com/e20-593.html
2024 Latest geekcert E20-593 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Refer to the exhibit.

Storage
Node

NetWorker
Server

Backﬁp Cﬁents

A storage administrator configures an EMC NetWorker staging policy to move save sets from backup Device A to
backup Device B. A restore session is started and requires save sets that were staged to Device B.

What is the data flow in this recovery?

A. Data is reconstructed from Device B to Device A through the storage node and then sent back to the client.
B. Data goes from Device B through the storage node to the NetWorker server and then to the client.

C. Data goes from Device B through the storage node and then to the client.

D. Data is restored to the storage node and copied to the client.

Correct Answer: C

QUESTION 2
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In an EMC NetWorker environment, regardless of what ports the service port range is set to, which two ports will
nsrexecd always try to listen on?

A. 7937, 7938
B. 9301, 9302
C. 4711, 4712
D. 8080, 8081

Correct Answer: A

QUESTION 3

Which EMC NetWorker process reads and manages the port range information?
A. nsrexecd

B. nsrstat

C. nsrmmd

D. nsrd

Correct Answer: A

QUESTION 4

An EMC NetWorker backup client contains 650 GB of data in 750,000 files and is presently being backed up by an EMC
NetWorker server-to-storage node with six tape drives connected via Fibre Channel. Analysis has determined that the
storage node and SAN connections to the tape drive are not impacting performance. What is the recommended method
for backing up this client?

A. Configure the client as a dedicated storage node and assign an appropriate number of tape drives.

B. Add another storage node to the EMC NetWorker environment distributing the load and bandwidth across the
environment.

C. Add four additional tape drives to the library.
D. Increase the number of Fibre Channel ports into the SAN.

Correct Answer: A

QUESTION 5
An Administrator has deployed the EMC NetWorker server software with clustering. There are 50 clients and an

autochanger with 4 drives controlled by a remote storage node. What is the path of the backup data from the client to
the media?
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A. Client —andgt; Storage Node —andgt; Media

B. Client —andgt; Media

C. Client —andgt; Cluster Server —andgt; Media

D. Client —andgt; Cluster Server —andgt; Storage Node —andgt; Media

Correct Answer: A
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